q-differ-integral operator on *p*-valent functions associated with operator on Hilbert space

Shahram Najafzadeh

Abstract. Making use of multivalent functions with negative coefficients of the type $f(z) = z^p - \sum_{k=p+1}^{\infty} a_k z^k$, which are analytic in the open unit disk and applying the q-derivative a q-differintegral operator is considered. Furthermore by using the familiar Riesz-Dunford integral, a linear operator on Hilbert space H is introduced. A new subclass of p-valent functions related to an operator on H is defined. Coefficient estimate, distortion bound and extreme points are obtained. The convolution-preserving property is also investigated.

§1 Motivation and Introduction

The study of univalent and multivalent functions is one of the leading branches of geometric function theory. One of the fundamental problems in this theory is coefficient estimates of such functions. After solving this problem, we may find many interesting geometric properties. The operator on Hilbert space related to multivalent functions was studied by many researchers. Also, the q-derivative is introduced in 1909. In this paper, we define a new subclass of multivalent functions associated with q-derivative. Furthermore, operators on Hilbert space is considered and some geometric structures are investigated.

Let \mathcal{N} be the class of analytic and multivalent functions defined in the open unit disk $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$ is of the type:

$$f(z) = z^p - \sum_{k=p+1}^{\infty} a_k z^k.$$
(1)

In the theory of q-calculus, the q-shifted factorial is introduced for $w, q \in \mathbb{C}, n \in \mathbb{N}_0 \equiv \mathbb{N} \cup \{0\}$ as a product of n factors by:

$$(w,q)_n = \begin{cases} 1 & , \quad n = 0, \\ (1-w)(1-wq)\cdots(1-wq^{n-1}) & , \quad n \in \mathbb{N}, \end{cases}$$
(2)

Received: 2019-02-03. Revised: 2021-01-27.

MR Subject Classification: 30C45, 30C50.

Keywords: multivalent function, fractional q-derivative operator, fractional q-integral operator, Hilbert space, coefficient estimate, distortion bound, extreme point, convolution (or Hadamard product).

Digital Object Identifier(DOI): https://doi.org/10.1007/s11766-023-3747-3.

Shahram Najafzadeh.

and according to the basic analogue of the gamma function, we have

$$(q^w, q)_n = \frac{\Gamma_q(w+n)(1-q)^n}{\Gamma_q(w)}, \qquad (n>0),$$
(3)

where the gamma function is defined by:

$$\Gamma_q(y) = \frac{(q,q)_{\infty}(1-q)^{1-y}}{(q^y,q)_{\infty}}, \qquad (0 < q < 1).$$
(4)

If |q| < 1, the q-shifted factorial $(w, q)_n$ is meaningful for $n = \infty$ as a convergent product:

$$(w,q)_{\infty} = \prod_{t=0}^{\infty} (1 - wq^t).$$
 (5)

It is clear that $\Gamma_q(y) \to \Gamma(y)$ as $q \to 1$, where $\Gamma(y)$ is the ordinary Eular gamma function. Also we have:

$$\lim_{q \to 1^{-}} \frac{(q^w, q)_n}{(1-q)^n} = (w)_n, \tag{6}$$

where $(w)_n$ is the familiar Pochhammer symbol defined by:

$$(w)_n = w(w-1)\cdots(w+n-1).$$
 (7)

The Jachson's q-derivative and q-integral of a function are respectively introduced by Gasper and Rahman [1]:

$$\mathcal{D}_{q,z}f(z) = \frac{f(z) - f(qz)}{z(1-q)}, \qquad (z \neq 0, \quad z \neq 0),$$
(8)

and

$$\int_{0}^{z} f(t)d_{q}(t) = z(1-q)\sum_{k=0}^{\infty} q^{k}f(zq^{k}),$$
(9)

see also [2].

From (8), we get:

$$\mathcal{D}_q z^k = [k]_q z^{k-1},\tag{10}$$

where

$$[k]_q = \frac{1 - q^k}{1 - q},\tag{11}$$

 $[k]_q$ is called *q*-analogue of *k*.

Now, we recall some definitions of fractional q-calculus operators, which were considered in [3].

Definition 1.1 (Fractional *q*-integral operator). If f(z) is analytic in a simply connected domain $\mathbb{D} \subset \mathbb{C}$ containing the origin, then the fractional *q*-integral of *f* of order γ ($\gamma > 0$), is defined by:

$$\mathcal{I}_{q,z}^{\gamma}f(z) = \mathcal{D}_{q,z}^{-\gamma}f(z) = \frac{1}{\Gamma_q(\gamma)} \int_0^z (z - qs)_{\gamma-1}f(s)d_qs, \tag{12}$$

where $(z - qs)_{\gamma-1}$ is single valued when $|\arg(\frac{-sq^{\gamma}}{z})| < \pi$, $|sq^{\gamma}| < 1$ and $|\arg(z)| < \pi$.

Definition 1.2 (Fractional q-derivative operator). The fractional q-derivative operator of f

of order γ ($0 \leq \gamma < 1$) is defined by:

$$\mathcal{D}_{q,z}^{\gamma}f(z) = \mathcal{D}_{q,z}\mathcal{I}_{q,z}^{1-\gamma}f(z) = \frac{1}{\Gamma_q(1-\gamma)}\mathcal{D}_{q,z}\int_0^z (z-qs)_{-\gamma}d_qs.$$
 (13)

Definition 1.3 (Extended fractional q-derivative operator). With the same hypothesis of definition 1.2, the extended fractional q-derivative of order γ , is defined by:

$$\mathcal{D}_{q,z}^{\gamma}f(z) = \mathcal{D}_{q,z}^{m}\mathcal{I}_{q,z}^{m-\gamma}f(z), \qquad (m-1 \leqslant \gamma < m, \quad m \in \mathbb{N}_{0}).$$
(14)

Now, we consider the linear operator, see [4]:

$$\Omega_{q,p}^{\gamma}f(z): \mathcal{N} \to \mathcal{N},$$

$$\Omega_{q,p}^{\gamma}f(z) = z^{p} - \sum_{k=p+1}^{\infty} \frac{\Gamma_{q}(p+1-\gamma)\Gamma_{q}(k+1)}{\Gamma_{q}(p+1)\Gamma_{q}(k+1-\gamma)} a_{k}z^{k}.$$
(15)

It is easy to show that $\Omega^0_{q,p}f(z) = f(z)$.

If $f(z) \in \mathcal{N}$, then the generalized Al. Oboudi [6] type differential operator $\mathcal{D}_{q,p,\lambda}^{\gamma,m}$ for $\gamma \ge 0$ and $m \in \mathbb{N}$ is defined by:

$$\mathcal{D}_{q,p,\lambda}^{\gamma,0}f(z) = f(z),$$

$$\mathcal{D}_{q,p,\lambda}^{\gamma,1}f(z) = (1-\lambda)\Omega_{q,p}^{\gamma}f(z) + \frac{\lambda z}{[p]_q}\mathcal{D}_q(\Omega_{q,p}^{\gamma}f(z)),$$

$$\mathcal{D}_{q,p,\lambda}^{\gamma,m}f(z) = \mathcal{D}_{q,p,\lambda}^{\gamma,1}(\mathcal{D}_{q,p,\lambda}^{\gamma,m-1}f(z)),$$
(16)

which was introduced by Selvakuman et al. [5].

We note that if f(z) is given by (1), then by (16), we get:

$$\mathcal{D}_{q,p,\lambda}^{\gamma,m}f(z) = z^p - \sum_{k=p+1}^{\infty} \Big(\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big[1-\lambda+\frac{[k]_q}{[p]_q}\lambda\Big]\Big)^m a_k z^k.$$
 (17)

By specializing the parameters in the operator $\mathcal{D}_{q,p,\lambda}^{\gamma,m}$, this operator reduces to some well-known differential operators. For example, see [6,7] and [8].

Definition 1.4. The function $f \in \mathcal{N}$ is said to be a member of the class $\mathcal{ND}(\alpha, \beta, \theta)$ if it satisfies:

$$\left| \frac{z^{2-p} (\mathcal{D}_{q,p,\lambda}^{\gamma,m} f(z))'' + z^{1-p} (\mathcal{D}_{q,p,\lambda}^{\gamma,m} f(z))' - p^2}{2z^{-p} \mathcal{D}_{q,p,\lambda}^{\gamma,m} f(z) - \alpha(1+\beta)} \right| < \theta,$$
(18)

where α, β and θ belong to [0, 1).

Let H be a Hilbert space on the \mathbb{C} and T be a linear operator on H. Also f(T) be the operator on H defined by Riesz-Dunford integral [9]:

$$f(T) = \frac{1}{2\pi i} \int_C f(z)(zI - T)^{-1} dz,$$
(19)

where C is a positively oriented simple closed rectifiable counter lying in \mathbb{U} , and containing the spectrum of T in its interior domain and I is the identity operator on H. See [10], also [11].

Definition 1.5. A function given by (1) is in the class $\mathcal{ND}(T, \alpha, \beta, \theta)$ if for all operator T with

Shahram Najafzadeh.

||T|| < 1 and $T \neq 0$ it satisfies the inequality:

$$L = \|T^{2-p}[\mathcal{D}_{q,p,\lambda}^{\gamma,m}f(T)]'' + T^{1-p}[\mathcal{D}_{q,p,\lambda}^{\gamma,m}f(T)]' - p^2\| < \theta \|2T^{-p}[\mathcal{D}_{q,p,\lambda}^{\gamma,m}f(T)] - \alpha(1+\beta)\| = R.$$
(20)

§2 Main Result

In this section, we obtain coefficient inequality and distortion bound for a function $f \in \mathcal{ND}(T, \alpha, \beta, \theta)$.

Theorem 2.1. A function f(z) given by (1) is in the class $\mathcal{ND}(T, \alpha, \beta, \theta)$ for all $T \neq 0$ if and only if:

$$\sum_{k=p+1}^{\infty} \frac{(k^2+2\theta)}{\theta(2-\alpha(1+\beta))} \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1-\lambda + \frac{[k]_q}{[p]_q} \lambda \Big) \Big]^m a_k \leqslant 1.$$
(21)

Proof. Suppose that (21) is true. We have,

$$\begin{split} L-R &= \left\| -\sum_{k=p+1}^{\infty} k^2 \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1-\lambda + \frac{[k]_q}{[p]_q} \lambda \Big) \Big]^m a_k T^{k-p} \right\| \\ &-\theta \left\| 2 - \alpha(1+\beta) - \sum_{k=p+1}^{\infty} 2 \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1-\lambda + \frac{[k]_q}{[p]_q} \lambda \Big) \Big]^m a_k T^{k-p} \right\| \\ &\leqslant \sum_{k=p+1}^{\infty} (k^2 + 2\theta) \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1-\lambda + \frac{[k]_q}{[p]_q} \lambda \Big) \Big]^m a_k - \theta(2 - \alpha(1+\beta)) \\ &\leqslant 0. \end{split}$$

Hence, f is in the class $\mathcal{ND}(T, \alpha, \beta, \theta)$.

Conversely, suppose that L < R, so:

$$\left\| -\sum_{k=p+1}^{\infty} \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1-\lambda + \frac{[k]_q}{[p]_q} \lambda \right) \right]^m a_k T^{k-p} \right\|$$

$$< \theta \left\| 2 - \alpha(1+\beta) - \sum_{k=p+1}^{\infty} 2 \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1-\lambda + \frac{[k]_q}{[p]_q} \lambda \right) \right]^m a_k T^{k-p} \right\|.$$

Setting T = rI (0 < r < 1) in the above inequality, we get:

$$\theta > \frac{\sum_{k=p+1}^{\infty} k^2 \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1 - \lambda + \frac{[k]_q}{[p]_q} \lambda \right) \right]^m a_k r^{k-p}}{\left(2 - \alpha(1+\beta) \right) - \sum_{k=p+1}^{\infty} 2 \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1 - \lambda + \frac{[k]_q}{[p]_q} \lambda \right) \right]^m a_k r^{k-p}}.$$

$$(22)$$

Upon clearing denominator in (22) and letting $r \to 1$, we obtain the required result. So the proof is complete.

Remark 1. We note that the result (21) is sharp for the function F(z) given by:

$$F(z) = z^{p} - \frac{\theta(2 - \alpha(1 + \beta))z^{p+1}}{((p+1)^{2} + 2\theta) \left[\frac{\Gamma_{q}(p+1-\gamma)\Gamma_{q}(p+2)}{\Gamma_{q}(p+1)\Gamma_{q}(p+2-\gamma)} \left(1 - \lambda + \frac{[p+1]_{q}}{[p]_{q}}\lambda\right)\right]^{m}}.$$
(23)

Also, according to the Theorem 2.1, we get:

$$\sum_{k=p+1}^{\infty} a_k \leqslant \frac{\theta(2-\alpha(1+\beta))}{(k^2+2\theta) \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1-\lambda+\frac{[k]_q}{[p]_q}\lambda\right)\right]^m}.$$
(24)

Theorem 2.2. If f(z) of the form (1) be in the class $\mathcal{ND}(T, \alpha, \beta, \theta)$ with ||T|| < 1 and $||T|| \neq 0$, then:

$$\|T\|^{p} \left[1 - \|T\|^{k-p} \frac{\theta(2 - \alpha(1+\beta))}{(k^{2} + 2\theta) \left[\frac{\Gamma_{q}(p+1-\gamma)\Gamma_{q}(k+1)}{\Gamma_{q}(p+1)\Gamma_{q}(k+1-\gamma)} \left(1 - \lambda + \frac{[k]_{q}}{[p]_{q}}\lambda\right) \right]^{m}} \right]$$

$$\leq \|f(T)\| \leq \|T\|^{p} \left[1 + \|T\|^{k-p} \frac{\theta(2 - \alpha(1+\beta))}{(k^{2} + 2\theta) \left[\frac{\Gamma_{q}(p+1-\gamma)\Gamma_{q}(k+1)}{\Gamma_{q}(p+1)\Gamma_{q}(k+1-\gamma)} \left(1 - \lambda + \frac{[k]_{q}}{[p]_{q}}\lambda\right) \right]^{m}} \right].$$
(25)

Proof. Since $f(z) = z^p - \sum_{k=p+1}^{\infty} a_k z^k$, so by (24) we have: $\|f(T)\| = \left\| T^p - \sum_{k=p+1}^{\infty} a_k T^k \right\|$ $\geqslant \|T^p\| - \|T\|^k \sum_{k=p+1}^{\infty} a_k$ $\geq \|T\|^p \left[1 - \|T\|^{k-p} \frac{\theta(2 - \alpha(1+\beta))}{(k^2 + 2\theta) \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1 - \lambda + \frac{[k]_q}{[p]_q} \lambda \right) \right]^m} \right],$

and similarly:

$$\|f(T)\| \leq \|T\|^p \left[1 + \|T\|^{k-p} \frac{\theta(2-\alpha(1+\beta))}{(k^2+2\theta) \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1-\lambda+\frac{[k]_q}{[p]_q}\lambda\right)\right]^m} \right].$$

Hence, the proof is complete

Extreme Points §3

In this section, we introduce the extreme points of the class $\mathcal{ND}(T, \alpha, \beta, \theta)$ and show that this class is closed under convolution with respect to the parameters α and β .

Theorem 3.1. Let
$$f_p(z) = z^p$$
 and

$$f_k(z) = z^p + \frac{\theta(2 - \alpha(1 + \beta))}{(k^2 + 2\theta) \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1 - \lambda + \frac{[k]_q}{[p]_q} \lambda \right) \right]^m} z^k, \qquad (k = p+1, p+2, \ldots).$$
(26)

Shahram Najafzadeh.

Then, $f(z) \in \mathcal{ND}(T, \alpha, \beta, \theta)$ if and only if it can be expressed by:

$$f(z) = \sum_{k=p}^{\infty} x_k f_k(z),$$

where, $x_k \ge 0$ and $\sum_{k=p}^{\infty} x_k = 1$.

Proof. Let $f(z) \in \mathcal{ND}(T, \alpha, \beta, \theta)$, then from (21), we have: $\frac{\infty}{\theta(2 - \alpha(1 + \beta))}$

$$a_k \leq \sum_{k=p+1} a_k \leqslant \frac{\theta(2-\alpha(1+\beta))}{(k^2+2\theta) \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1-\lambda+\frac{[k]_q}{[p]_q}\lambda\right)\right]^m}, \qquad (k=p+1,p+2,\ldots).$$

Therefore by letting:

$$x_k = \frac{(k^2 + 2\theta) \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1 - \lambda + \frac{[k]_q}{[p]_q} \lambda \right) \right]^m}{\theta(2 - \alpha(1+\beta))} a_k, \qquad (k = p+1, p+2, \ldots),$$

and $x_p = 1 - \sum_{k=p+1}^{\infty} x_k$, we conclude the required result.

Conversely, let $f(z) = \sum_{k=p}^{\infty} x_k f_k(z)$, then:

$$\begin{split} f(z) &= x_p z^p + \sum_{k=p+1}^{\infty} x_k \left\{ z^p + \frac{\theta(2 - \alpha(1+\beta))z^k}{(k^2 + 2\theta) \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1 - \lambda + \frac{[k]_q}{[p]_q} \lambda \right) \right]^m} \right\} \\ &= z^p + \sum_{k=p+1}^{\infty} \frac{\theta(2 - \alpha(1+\beta))x_k}{(k^2 + 2\theta) \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1 - \lambda + \frac{[k]_q}{[p]_q} \lambda \right) \right]^m} z^k \\ &= z^p + \sum_{k=p+1}^{\infty} w_k z^k, \end{split}$$

where

$$w_k = \frac{\theta(2 - \alpha(1 + \beta))x_k}{\left(k^2 + 2\theta\right) \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1 - \lambda + \frac{[k]_q}{[p]_q}\lambda\right)\right]^m}$$

But

$$\sum_{k=p+1}^{\infty} w_k = \frac{k^2 + 2\theta}{\theta(2 - \alpha(1+\beta))} \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1 - \lambda + \frac{[k]_q}{[p]_q} \lambda \Big) \Big]^m$$
$$= \sum_{k=p+1}^{\infty} x_k = 1 - x_p \leqslant 1.$$

So, by Theorem 2.1, we get $f(z) \in \mathcal{ND}(T, \alpha, \beta, \theta)$.

Remark 2. The extreme points of the class $\mathcal{ND}(T, \alpha, \beta, \theta)$ are the functions $f_p(z) = z^p$ and $f_k(z)$ $(k \ge p+1)$ defined by (26).

Theorem 3.2. Let
$$f(z) = z^p - \sum_{k=p+1}^{\infty} a_k z^k$$
 and $g(z) = z^p - \sum_{k=p+1}^{\infty} b_k z^k$ be in the class

 $\mathcal{ND}(T, \alpha, \beta, \theta)$, then (f * g)(z) defined by:

$$(f * g)(z) = z^p - \sum_{k=p+1}^{\infty} a_k b_k z^k,$$

belongs to $\mathcal{ND}(T, \alpha, \beta^*, \theta)$, where:

$$\beta^* \leqslant \frac{2}{\alpha} - \left\{ 1 + \frac{\theta(2 - \alpha(1 + \beta))^2}{\alpha(k^2 + 2\theta) \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1 - \lambda + \frac{[k]_q}{[p]_q}\lambda\right) \right]^m} \right\}.$$

Proof. By Theorem 2.1, it is sufficient to show that:

$$\sum_{k=p+1}^{\infty} \frac{(k^2+2\theta)}{\theta(2-\alpha(1+\beta^*))} \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1-\lambda+\frac{[k]_q}{[p]_q}\lambda\Big) \Big]^m a_k b_k \leqslant 1.$$

By using Cauchy-Schwarz inequality from (21), we obtain:

$$\sum_{k=p+1}^{\infty} \frac{(k^2+2\theta)}{\theta(2-\alpha(1+\beta))} \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1-\lambda+\frac{[k]_q}{[p]_q}\lambda\Big) \Big]^m \sqrt{a_k b_k} \leqslant 1.$$

Hence, we find the largest β^* such that:

$$\sum_{k=p+1}^{\infty} \frac{(k^2+2\theta)}{\theta(2-\alpha(1+\beta^*))} \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1-\lambda+\frac{[k]_q}{[p]_q}\lambda\Big) \Big]^m a_k b_k$$

$$\leq \sum_{k=p+1}^{\infty} \frac{(k^2+2\theta)}{\theta(2-\alpha(1+\beta))} \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1-\lambda+\frac{[k]_q}{[p]_q}\lambda\Big) \Big]^m \sqrt{a_k b_k} \leq 1,$$

or equivalently

$$\sqrt{a_k b_k} \leqslant \frac{2 - \alpha (1 + \beta^*)}{2 - \alpha (1 + \beta)}, \qquad (k \geqslant p + 1).$$

This inequality holds if

$$\frac{\theta(2-\alpha(1+\beta))}{(k^2+2\theta)\left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)}\left(1-\lambda+\frac{[k]_q}{[p]_q}\lambda\right)\right]^m} \leqslant \frac{2-\alpha(1+\beta^*)}{2-\alpha(1+\beta)},$$

or equivalently

$$\beta^* \leqslant \frac{2}{\alpha} - \left\{ 1 + \frac{\theta(2 - \alpha(1 + \beta))^2}{\alpha(k^2 + 2\theta) \left[\frac{\Gamma_q(p+1 - \gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1 - \gamma)} \left(1 - \lambda + \frac{[k]_q}{[p]_q} \lambda \right) \right]^m} \right\}.$$

Theorem 3.3. With the same assumptions of Theorem 3.2, (f * g)(z) belongs to $\mathcal{ND}(T, \alpha^*, \beta, \theta)$, where:

$$\alpha^* \leqslant \frac{2}{1+\beta} - \frac{\theta(2-\alpha(1+\beta))^2}{(k^2+2\theta)(1+\beta) \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1-\lambda+\frac{[k]_q}{[p]_q}\lambda\Big)\Big]^m}.$$

Proof. It is sufficient to show that:

$$\sum_{k=p+1}^{\infty} \frac{(k^2+2\theta)}{\theta(2-\alpha^*(1+\beta))} \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1-\lambda+\frac{[k]_q}{[p]_q} \lambda \Big) \Big]^m a_k b_k \leqslant 1.$$

By using Cauchy-Schwarz inequality from (21) we get:

$$\sum_{k=p+1}^{\infty} \frac{(k^2+2\theta)}{\theta(2-\alpha(1+\beta))} \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1-\lambda+\frac{[k]_q}{[p]_q}\lambda\Big) \Big]^m \sqrt{a_k b_k} \leqslant 1.$$

 $Shahram \ Najafzadeh.$

Hence, we find the largest α^* such that:

$$\sum_{k=p+1}^{\infty} \frac{(k^2+2\theta)}{\theta(2-\alpha^*(1+\beta))} \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1-\lambda + \frac{[k]_q}{[p]_q} \lambda \Big) \Big]^m a_k b_k$$

$$\leqslant \sum_{k=p+1}^{\infty} \frac{(k^2+2\theta)}{\theta(2-\alpha(1+\beta))} \Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \Big(1-\lambda + \frac{[k]_q}{[p]_q} \lambda \Big) \Big]^m \sqrt{a_k b_k} \leqslant 1$$

or equivalently

$$\sqrt{a_k b_k} \leqslant \frac{2 - \alpha^* (1 + \beta)}{2 - \alpha (1 + \beta)}, \qquad (k \ge p + 1).$$

This inequality holds if

$$\frac{\theta\big(2-\alpha(1+\beta)\big)}{(k^2+2\theta)\Big[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)}\Big(1-\lambda+\frac{[k]_q}{[p]_q}\lambda\Big)\Big]^m}\leqslant \frac{2-\alpha^*(1+\beta)}{2-\alpha(1+\beta)},$$

or equivalently

$$\alpha^* \leqslant \frac{2}{1+\beta} - \frac{\theta(2-\alpha(1+\beta))^2}{(k^2+2\theta)(1+\beta) \left[\frac{\Gamma_q(p+1-\gamma)\Gamma_q(k+1)}{\Gamma_q(p+1)\Gamma_q(k+1-\gamma)} \left(1-\lambda+\frac{[k]_q}{[p]_q}\lambda\right)\right]^m}$$

So the proof is complete.

§4 Conclusion

Studying the theory of analytic functions has been a area of concern for many authors. A more specific field is the study of operator on Hilbert space in complex plane. Literature review indicates lots of researches on the classes of p-valent analytic functions. The interplay of geometric structures are very important aspect in complex analysis. This work will lead possibility to define new subclasses of p-valent functions by using q-analogue of the well-known operators or even conclude some geometric properties such as radii of starlikeness, convexity, close-to-convexity and so on. Also neighborhood and partial sum properties will be investigate. This idea could be topics for next researches.

Acknowledgements

The author would like to thank the referees for the comment made to improve this paper.

Declarations

Conflict of interest The authors declare no conflict of interest.

References

 G Gasper, M Rahman, G George. Basic hypergeometric series, Cambridge university press, 2004, 66.

- [2] F H Jackson. On q-functions and a certain difference operator, Transactions of the Royal Society of Edinburgh Earth Sciences, 1908, 46(2): 253-281.
- [3] S D Purohit, R K Raina. Certain subclasses of analytic functions associated with fractional q-[calculus] operators, Mathematica Scandinavica, 2011, 109(1): 55-70.
- [4] L Jasoria, S K Bissu. On Certain Ganeralized Fractional q-integral Operator of p-valent Functions, International Journal on Future Revolution in Computer Science and Communication Engineering, 2015, 3(8): 230-235.
- [5] K A Selvakumaran, S D Purohit, A Secer, M Bayram. Convexity of certain q-integral operators of p-valent functions, Abstract and Applied Analysis, 2014, 2014: 1-7.
- [6] F M Al-Oboudi. On univalent functions defined by a generalized Sălăgean operator, International Journal of Mathematics and Mathematical Sciences, 2004, 2004(27): 1429-1436.
- [7] F M Al-Oboudi, K A Al-Amoudi. On classes of analytic functions related to conic domains, Journal of Mathematical Analysis and Applications, 2008, 339(1): 655-667.
- [8] G S Salagean. Subclasses of univalent functions, Complex Analysis-Fifth Romanian Finish Seminar, Bucharest, 1983, 1013: 362-372.
- [9] N Dunford, T J Schwartz. Linear operators part I: general theory, Interscience publishers New York, 1958, 58.
- [10] K Y Fan. Analytic functions of a proper contraction, Mathematische Zeitschrift, Bucharest, 1978, 160(3): 275-290.
- [11] S Najafzadeh, A Ebadian. Operator on Hilbert space and its application to certain univalent functions with a fixed point, Acta Universitatis Apulensis, 2011, 27: 51-56.
- Department of Mathematics, Payame Noor University, P.O.Box 19395-3697, Tehran, Iran. Email: najafzadeh1234@yahoo.ie